OTRAZGHT LInes
Izerlsmnce between Lhe points P (x,,Yy,) and §(xy,y,) is |PQ = J(%z'x,c)!fflirwi

—

.L_{\/ﬁnond:‘natas of a point dividing the line seqment jm’m’ng the points (I,,g,) and ('r?,«#) :‘ntennamf
in the natio m:n ane | MK tNL My, + Ny,
m+n m+n

Vﬂ/fn panticulan , If m=n , the coondinates of the mid point of the Lline segment jm'nm? the points

(1, 4) and (xy,y,) ane [Tt M}
2 7

?jﬂﬂtﬂ of tm'anglc % ['xl (HZ' ‘Ja’ ¥ 12(1‘3_ yl) + 'IJ(VI"J*”J ventices ane (x,y), (%,y,) and (73,y,)

, Note : I{ the anea of the tﬂinngft ABC s zeno, then thnee points A,B and C lie on a line , €., fhey ane
collinean.

¥ Stope of a Line (0+30)

' Note - The slope of «x-axis is zemo and slope of g-a:is (s nol defined .

;i(Slope of the line thnough the points (%,,4,) and (%,y,) e 1241
- Xy
"j*’f the line [, is panallel to (, |7nf= —mll
Itana . tunpl

*jﬂf the line [} and [, axne penpendiculan m, = -1 OR ‘fml m, - -1\
™m; |

tanp = tan (o + 90°)

- cotw = - _{
{ana

ajﬂmt,e unqlg 8 between two ULines with slopes m, and m, tand = m’-'m‘l; 1+ mym, ¥ 0

14 mym,
aj(‘oﬂincnm'tg of thuee points Thnee points ame collinean lslope of AB = slope of BC\
(f and only (f
@/pomt- slope fonm Y-y = m (z-2x)
S wo- point foxm  [y-y,= L2749 (x-x)
L%

'?ijopt - intesceplt foxm  case I ‘ ! mx + ¢ \ siope m and y - intencept ¢ (ase I ‘ 9= m(x-d) \

slope m and x - intencept d
ijrnturrept foxm

._x_.-,- _y_ = 1| x-intencept o and Y- intencept b
a_ b

"jﬁonmnl foﬂm \I Cosw + gSrnw - p‘l * Noamal distante fnom {he onigin.

rjm;tante of a point fuom a line d - JM’-+ Bi' i At + Bg e {’rom & poind (::”g,)
[+ 82

L_ﬂ/Dl’stﬁll'n.:.‘.' between (wo panallel Llines 2"~ _|_E;-_C:_._|_ {wo ponallel lines Ax + 8yt (=0 and

| A’+8° HI+87+(‘2=0




